REAL NUMBERS








(Questions of 1 mark)

Q1.
What is the maximum no. of factors of a prime number?

Q2
Given HCF of (16, 100) = 4. find L.C.M of (16, 100).

Q3 Write a rational no. between √2 and √3 .

Q4.
Write if 343/28 is a terminating or non-terminating repeating decimal without doing actual division.

Q5.
Tell whether the prime factorization of 15 is 1X 3 X 5 or not.

Q6 
If x and y are two irrational numbers then tell whether x + y is always irrational or not.

Q7. 
What is the L.C.M of x and y if y is a multiple of x?

Q8. 
Write the sum of exponents of prime factors of 98.

Q9 
State if (√2 - √3)( √2 + √3) is rational or irrational.

Q10
Express 0.03 as a rational number in the form of p/q.

(Questions of 2/3  marks)

Q1 
Explain why 7 X 13 X13 + 13 and 7 X 6 X 5 X 4 X 3 X 2 X 1 + 5 are composite numbers.

Q2
Find the missing number


[image: image1]

[image: image2]
Q3.
Show that one and only one out of n, n+4, n+8,n+12 and n+16 is divisible by 5 where n is any positive integer.

Q4
Show that the sum and product of two irrational numbers 7 + √5 and 7 - √5 are rational numbers.

Q5. 
Use Euclid’s division lemma to find the H.C.F of  615 and 154.

Answers

1)
2


2)
400



3)

[image: image3.wmf]3
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4) Non terminating & repeating decimal   5)
Not, 15=3X5



6) Not, x+y may be rational



7)     y


8)  1+2=3

9)rational


10) 
[image: image4.wmf]1
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Polynomials

1-mark questions
1. The value of quadratic polynomial f (x)=2x2- 3x- 2 at x =-2 is ……

2. If the product of zeroes of the polynomial ax2–6x-6 is 4, find the value of a.

3. Find the zeroes of the polynomial x2-1.

4. The sum and product of the zeroes of a quadratic polynomial are –
[image: image5.wmf]1
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 and –3respectively. What is the quadratic polynomial?

5. Find the number of zeroes of y=p(x) from the graph

[image: image6.png]





6. Find the zeroes of the polynomial f(x)=4(3x2+ 5x-2(3

7. 2x2-3(x+5 is a polynomial. True or false. Justify

8. What is the zeroes of the polynomial ax+b=0,a(0

9. Give examples of polynomials f(x), g(x) and r(x) which justify the division algorithm f(x) =g(x) q(x)+r(x) and (i) deg r(x)=0 (ii) deg f(x) =deg g(x)=2  (iii) deg q(x) =deg r(x)=1

10. Write a polynomial whose zeroes are (2 and -(2

2/3 marks Questions

1. Obtain all the zeroes of the polynomial x2 +7x+10 and verify the relationship between the zeroes and its coefficients.
2. If two zeroes of the polynomial of (x)=x4-6x3  -26x2+138x-35 are 2 ( (3  find other zeroes.
3. If ( and B are the zeroes of the quadratic polynomial f (x) =x2 +2x+1, then find ((( and 1/(.

4. If ( and ( are the zeroes of the polynomial f(x) =x2 –px+q such that α2 +(2.

5. If ( and ( are the zeroes of the polynomial f(x)=x2 –5x+k such that (-(=1,find the value of k.

6. Check whether 2x3+1 is a factor of 2x5+10x4+6x3+2x2+5x+1.

7. Obtain all the zeroes of the polynomial f(x)=3x4+6x3-2x2-10x-5 if two of its zeroes are 
[image: image7.wmf]5
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 and - 
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 .

8. If the polynomial f(x)=x4-6x3+16x2-25x+10 is divided by another polynomial x2-2x+k, the remainder comes out to be x+a, find k and a

9. Find the polynomial of least degree which should be subtracted from the polynomial x4+2x3-4x2+6x-3 so that it is exactly divisible by x2-x+1

10. Divide 3x2-x3-3x+5 by x-1-x2 and verify the division algorithm

Polynomials(Answer)

1 mark

1)12

2.)
-3/2


3) +1


4)2x2+x-6

5) zeros=3

6)   
-2/(3,(3/4

7) false


8) –b/a

9) f(x)=g(x)Xq(x)+r(x), deg r(x)=0

10) x2-1

     x2-1=(x+1)(x-1)+0

2/3 marks

1. -5,-2

2. 7,-5

3. –2

4. p2-2q

5. k=6

6. a=1, b=+
2, Not a factor

7. –1,-1

8. k=5,a=-5

9. 2x-2

10. Q-(x-2), R=3

Linear Equations

(Questions of 1 Mark)

Q1. Does the point(1,-2) lie on the line whose equation is 3x-y-5=0?

Q2. For what value of ‘K’ the pair of equations x-ky+4=0 and 2x-4y-8=0 is 

       inconsistent?

Q3. Which axis is the graph of equation x=0?

Q4. How many solutions of the equation 5x-4y+11=0 are possible?

Q5. What is the value of ‘K’ for which the graph of the equations 2x-3y=9 

       and kx-9y=18 are parallel lines?

Q6. Find the value of ‘a’ for which the system of equations 3x+2y-4=0 and 

       ax-y-3=0 will represent intersecting lines?

Q. Write a linear equation in two variables which is consistent to equation 

     5(x-y)=3.

Q8. What is the solution of (2 x -(5 y=0 and 2. (3 x-(7 y=0.

Q9. Find the co-ordinates of the point where the line 2x-3y=6 meets x-axis 

       and y-axis.

(Questions of 2/3 Marks)

Q1. In a cyclic quad. ABCD;
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(24),(3)

(210) and D=(4x-5)

AxBy

Cy

Ð=+Ð=+

Ð=+Ð


Find the four angles in degree.

Q2. Solve for x and y:

      103x+51y=617,

        97x+49y=583.

Q3. The sum of two numbers is 35 and their difference is 13 find the 

        Numbers.

Q4. For what value of’K’ will the following equations has no solution.

      3x+y=1,

      (2K-1)x+(K-1)y=2K+1.

Q5. Aftab tells his daughter, “Seven years ago I was 7 times as old as you                                

       were then, also 3 years from now I shall be 3 times as old as you will be.

       Represent the situation algebraically.

ANSWERS

      Answers of One mark Question

1. yes



2. k=2


3. y-axis

4. Infinite solution

5.k=6


6.a 
[image: image10.wmf]¹



 EMBED Equation.DSMT4  [image: image11.wmf]3
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7. 2x+3y=7 or more others
8. x=0, y=0

9.(3,0),(0,-2)

Answers of 2/3 marks Question

1.
[image: image12.wmf]Ð

A =700, .
[image: image13.wmf]Ð

B =530, .
[image: image14.wmf]Ð

C =1100, .
[image: image15.wmf]Ð

D=1270

2. x= 5, y=2

3. x=24, y=11

4. k=2

5. x-7y+42=0

x-3y-6=0

Quadratic Equation

1 mark

1. Find the sum & product of the roots of the equation x2-
[image: image16.wmf]3

=0

2. Divide 51 into two parts whose product is378.

3. Determine K, so that the equation x2-4x+k=0 has no real roots.

4. Find the equation whose roots are 5+
[image: image17.wmf]2

 and 5-
[image: image18.wmf]2


5. For the given equation 
[image: image19.wmf]3

x2-2
[image: image20.wmf]2

x-2
[image: image21.wmf]3

=0

6. Find the value of a and b such that x=1, and x= -2 are solutions of the quad. Equation x2+ax+b=0

7. Find the value of K for which the following quad. Equation have equal roots

(a). (k-4) x2+2(k-4) x+4=0

(b). kx (x-2) +6=0

      7. For what value of ‘P’, the following equations have real roots

(b) Px2r +4x +1=0

(c) 4x2+8x-P=0

(d) 2x2+Px +8=0

8. If ( and ( are the roots of the equation x2 – 4x –5=0. Find (-1 + (-1

9. If one root of a quad. Equation is 
[image: image22.wmf]23
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,  then what is the other root?
                                        2/3  MARKS

1. Solve the following by factorization method

(a) 2x2+ax-a2=0,
a
[image: image23.wmf]Î

R

(b) 4x2-4ax+(a2-b2)=0       (a,b
[image: image24.wmf]Î

R)

2. Using quadratic formula, solve the following equation for x

abx2 + (b2-ac) x-bc=0


(a,b,c 
[image: image25.wmf]Î

R)

3. Solve for x, x+
[image: image26.wmf]1

x

= 25 
[image: image27.wmf]1
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.

4. If one root of the quadratic equation 2x2 +kx -6 =0 is 2, find the value of k also find the other root 

5. If -5 is a root of 2x2 + px-15=0 & the quad. Equation f  (x2+x)+k = 0 has equal root find the value of k

6. If the roots of the equation (b-c) x2 +(c-a) x+ (a-b)=0 are equal then prove that 

         2b= a+c 

7. Find two consecutive multiple of three whose product is 270

8. Two no. differ by 4 and their product is 192, find the numbers.. 

9. Is the following situation possible ?if so determine their present ages

   The sum of the ages of two friend are 20 years. 4 years ago, the product of their age in years was 48.

10. If the list price of a toy is reduced by Rs 2 a person can by 2 toys more for Rs360.find original price of the toy.

Answers

1 Marks Questions

(1) sum = 0 , Product =  -
[image: image28.wmf]13


(2) 42,9
(3) K > 4
(4) X2 – 10x + 23 = 0
(5) 
[image: image29.wmf]6

 , 
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(6) 
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3

, 
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(7)  (a) P 
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 (b) P 
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  (c) P 
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 , 
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(8) 
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(9) 
[image: image38.wmf]23

2

+


2/3  Marks Questions

(1) (a) x = -a , 
[image: image39.wmf]2

a

 (b) 
[image: image40.wmf]2

ab

±


(2) X = 
[image: image41.wmf]b
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 , x = 
[image: image42.wmf]c

b


(3) 25 , 
[image: image43.wmf]1

25


(4) 2 , 
[image: image44.wmf]3
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(5) P=7 , k = 
[image: image45.wmf]7
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(6) 15,18  ;  -15, -18

(7) 12,16

(8) Not possible

(9) Rs.20

ARITHMETIC PROGRESSION

1 MARK

1) Which term of the sequence 4,9,14...is 124?

2) Find the 10th term from the end of A.P

3, 8, 13, 18...253

3) For what value of K, the number x,2x+k,3x+6,are three consecutive terms of A.P

4) How many numbers of two digits are divisible by 8?

5) Find the middle term of A.P
1,8,15,...,505

6) Write next term of A.P ∫8, ∫18, ∫32....

7) What is the common difference of an A.P in which a23-a18=45

8) Find first three terms of an A.P whose nth term is -5 + 2x

9) In the given A.P, find the missing terms 0,_,-8,-12,_.

10) Find the sum of all odd integers between 1 and 100 which are not multiples of 4

2/3 MARKS

Q.1 How many terms of A.P 18, 16, 14...Should be taken so that their sum is zero?

Q.2 If the 10th term of an A.P is 47 and first term is 2, find the sum of the first 15 terms

Q.3 Solve the equation-2+5+8...+x=155

Q-4 Which term of A.P 121,117,113....is the first negative term?

Q-5 How many multiples of 4 lie between 10 and 250?

Q-6 If the sum of n terms of an A.P is n2 +2x, find the A.P and the 20th term.

Q-7 For what values of n, nth term of the series 3, 10, 17...and 63,65,67...are equal?

Q-8 If seven times the seventh term of an A.P is equal to 11 times the eleventh term, show that 18th term of an A.P is zero.

Q-9 If 9th term of an A.P is 0, prove that 29th term is double of the 19th term

Q-10 Determine the A.P whose zero term is 16 and when 5th term is subtracted from 7th ,we get 12

Answers

1 mark

a. n=25

b. 209

c. k=3

d. n=11

e. middle term=73

f. 5(2,6(2,7(2

g. d=9

h. –3,-1,1

i. 0,-4,-8,-12,-16

j. 2500

2/3  marks

1. 19

2. 255

3. 29

4. 32nd term

5. 60

6. 3,5,7,9

T20=41

7. n=13

8. a+17d=0

T18=0

10. 
4,10,16,22

TRIGONOMETRY

Q1.
If  θ = 45°, find the value of sec² θ.

Q2
Evaluate:  cos 60°cos 45° - sin60° sin 45°.

Q3
Find the value of 



tan15°.tan25°.tan30°.tan65°.tan85°

Q4 
If θ is a positive acute angle such that sec θ = cosec60°, then find the value of 2 cos² θ-1.

Q5
Find the value of sin65° - cos25° without using tables.

Q6
Can cos θ = 
[image: image46.wmf]5
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 be possible?

Q7
If sec 5A = cosec(A - 36°), find the value of A.

Q8
If 2 sin
[image: image47.wmf]2

x

 – 1 = 0, find the value of x.

Q9
If A, B and C are interior angles of   ∆ ABC, then prove that 
[image: image48.wmf]cos
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 = sin
[image: image49.wmf]2
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Q10
Find the value of 9 sec² A – 9 tan²A.

(Question of 2/3 marks)

Q1
Prove that  




Sin 6 θ + cos 6 θ = 1 – 3 sin² θcos² θ.     

Q2
From the figure find the value of sin x and cos y.


[image: image50]
Q3
If 5 tan θ – 4 = θ, then find the value of 



5 sin θ – 4 cos θ



5 sin θ + 4 cos θ

Q4
In ∆ ABC,  (c = 90°, tan A = 
[image: image51.wmf]1
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 and tan B = √3. Prove that sinA .cosB + cos A .sin B =1.

Q5. 
If  (XAC = 45°, find the value of x and y in the figure

[image: image52.png]


                                                                                                                                                                        
  

Answers of 1 mark Questions

1. 2


2.
[image: image53.wmf]13
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3.
[image: image54.wmf]1
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4.
[image: image55.wmf]1
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5. 0




6.No

7. 210

8.900



        10. -9

Answers of 2/3  mark Questions

2. sinx=
[image: image56.wmf]4
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3. 0

cos y=
[image: image57.wmf]12
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5. x=20
[image: image58.wmf]2
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   y=20  m

CO-ORDINATE GEOMETRY

(Question of 1 Marks)

1. Find the distance between the prints A(10 Cos( ) and B(0,10 Sin()

2. Find the area of ∆ABC where A (2,3), B (-2,1) and C (3,-2)

3. Find the co-ordinates of the point which divides the line-segment joining the point (1,3) and (2,7) in the ratio 3:4

4. Find the area of the triangle formed by the points O (0,0), A(a,0) and B(0,h).

5. AB is the diameter of a circle whose centre is (2,-3). If the co-ordinates of A.B are (1,4), then find the co-ordinates of A.

6. Find the distance of the point (3,-4) from y-axis

      If  A(3,2) , B(-2,1) are two vertices of ∆ABC whose centroid G has the co-ordinates (5/3,      1/3). Find the co-ordinates of the third vertex C.

7. Find the co-ordinates of vertex B of the equilateral triangle OAB in the fig.


[image: image59]
(Question of 2/3  Marks)

1. Find the ratio in which the line-segment joining the points (-3,-4) and (1,-2) is divided by y-axis

2. Find the point of trisection of the line-segment joining the points (-3,4) and (1,-2).

3. In the figure BOA is a right triangle and C is the midpoint of hypt AB.Show that it is equidistant from the vertices O,A and B.


[image: image60]
4. If the area of a triangle formed by (x, 2x), (-2, 6) and (3,1) is 5 square units, then find the value of x.

5. If the centroid of the triangle formed by the points (a,b), (b,c) and (c,a) at the origin, then find the value of a3+b3+c3
ANSWERS

Answers of one mark

1)  10


2) 11sq. units



3) 
[image: image61.wmf]10
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, 
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4) 
[image: image63.wmf]2
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5) (3,-10)



6) 3 units

7) (4,-2)

8) (a,
[image: image64.wmf]3
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Answers of 2/3 marks

1) 3:1


2) (-
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,2) ,(-
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3) 
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4) x=2


5) 3abc
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